
FINAL ANSWER KEY

Question
Paper Code:

122/2023/OL

Category
Code:

601/2022

Exam: High School Teacher English (By Transfer)

Date of Test 24-07-2023

Department Education

Question1:-Which of the following statement is / are correct regarding National
Legal Service Authority?
(i) Providing free legal aid and advice
(ii) Spreading legal awarness
(iii) Providing compensation to victims of crime

        A:-Only (ii and iii)

        B:-Only (i and ii)

        C:-Only (i and iii)

        D:-All of the above (i, ii and iii)

        Correct Answer:- Option-D

Question2:-Who is eligible for free legal services under legal services authority?
(i) Women and children
(ii) Members of scheduled caste or scheduled tribe
(iii) All the people of India

        A:-All of the above (i, ii and iii)

        B:-Only (ii and (iii)

        C:-Only (i and ii)

        D:-Only (i and iii)

        Correct Answer:- Option-C

Question3:-Which of the following statement is / are wrong about fourty second
Indian Constitutional Amendment Act of 1976?
(i) Sovereign, Democratic, Republic were added to the constitution
(ii) Sovereign, socialist, republic were added to the constitution
(iii) Sovereign, secular, republic were added to the constitution

        A:-Only (i and ii)

        B:-only (ii and iii)

        C:-only (i)

        D:-all of the above (i, ii and iii)

        Correct Answer:- Option-B

Question4:-Which of the following statement is/are correct?
(i) Dr. Rajendra Prasad was the President of Constituent Assembly
(ii) Dr. B.R. Ambedkar was the chairman of the drafting committee



(iii) The constituent assembly met for one hundred and sixty six days

        A:-Only (i and ii)

        B:-Only (ii and iii)

        C:-Only (i and iii)

        D:-All of the above (i, ii and iii)

        Correct Answer:- Option-D

Question5:-The following statements are the provisions India adapted from other
constitutions.
Which is/are correct
(i) First past the post system from Britain
(ii) Judicial review from America
(iii) The idea of residual powers from Irish constitution

        A:-only (i and ii)

        B:-only (ii and iii)

        C:-only (i and iii)

        D:-All of the above (i, ii and iii)

        Correct Answer:- Option-A

Question6:-Which of the following statement is/are correct regarding article 21 of
Indian constitution?
(i) Protection of life and personal liberty
(ii) No person shall be deprived of his life except according to procedure established
by law
(iii) All are equal before the eyes of law

        A:-only (ii and iii)

        B:-only (i and ii)

        C:-only (i and iii)

        D:-all of the above (i, ii and iii)

        Correct Answer:- Option-B

Question7:-Which of the following statement is/are correct about the articles of
Indian constitution?
(i) Article 324 of the Indian constitution provides for an independent election
commission
(ii) Article 74(1) says there shall be a council of ministers with the Prime Minister at
the head
(iii) Article 72 deals special procedure in respect of money bills

        A:-only (i and ii)

        B:-only (ii and iii)

        C:-only (i and iii)

        D:-all of the above (i, ii and iii)

        Correct Answer:- Option-A

Question8:-Which of the following statement is/are correct regarding the election



commission of India?
(i) The election commission of India is an autonomous constitutional authority
(ii) The body administers elections to the Lok Sabha, Rajya Sabha and Local self.
Government
     bodies
(iii) Shri. Rajiv Kumar is the Chief Election commssioner of India

        A:-Only (i and ii)

        B:-Only (i and iii)

        C:-Only (ii and iii)

        D:-All of the above (i, ii and iii)

        Correct Answer:- Option-B

Question9:-Which of the following statement is/are correct regarding the
constitutional provisions of public service commissions?
(i) Article - 315 - public service commission for the union and for the state 
(ii) Article - 320 - functions of public service commssions
(iii) Article - 316 - Appointment and terms of office of members

        A:-only (i and ii)

        B:-only (ii and iii)

        C:-only (i and iii)

        D:-all of the above (i, ii and iii)

        Correct Answer:- Option-D

Question10:-Which of the following composition is correct regarding the present
Central Information Commission?
(i) Shri. Y.K. Sinha, Mrs. Vanaja N. Sarna, Shri. Neeraj Kumar Gupta
(ii) Shri Bimal Julka, Shri M.A. Khan Yusufi, Shri Vijai Sharma
(iii) Shri Sudhir Bhargava, Mrs. Sushma Singh, Shri. M.L.Sharma

        A:-Only (i)

        B:-Only (ii)

        C:-Only (iii)

        D:-None of the above (i, ii and iii)

        Correct Answer:- Option-A

Question11:-Which of the following statement is/are correct regarding Shanar
Agitation?
(i) Shanar agitation held in southern Travancore
(ii) Shanar agitation held in northern Travancore
(iii) Col. Manro issued an order allowing Shanar women who converted to
Christianity to cover
      their bodies with jackets.

        A:-Only (i and ii)

        B:-Only (i and iii)

        C:-Only (ii and iii)



        D:-All of the above (i, ii and iii)

        Correct Answer:- Option-B

Question12:-Which of the following statement is/are correct regarding Vaikom
Satyagraha?
(i) A high light of the Satyagraha was the Savarna Jatha
(ii) Savarna Jatha was organised by the caste Hindus under Mannath Padmanabhan
(iii) Savarna Jatha was organised by the caste Hindus under K. Kellapan

        A:-Only (i and iii)

        B:-Only (ii and iii)

        C:-Only (i and ii)

        D:-All of the above (i, ii and iii)

        Correct Answer:- Option-C

Question13:-Which of the following statement is/are correct regarding Guruvayur
Satyagraha?
(i) K. Kelappan began an indefinite fast in front of the temple.
(ii) Mannath Padmanabhan, A.K.Gopalan, P. Krishna Pillai are the important
volunteers of the
     Satyagraha.
(iii) The Satyagraha was ended on the advice of Gandhiji.

        A:-Only (i and ii)

        B:-Only (ii and iii)

        C:-Only (i and iii)

        D:-All of the above (i, ii and iii)

        Correct Answer:- Option-D

Question14:-Which of the following statement is/are correct regarding temple entry
proclamation?
(i) Swathi Thirunal issued the famous temple entry proclamation
(ii) Sree Chitra tirunal issued the famous temple entry proclamation
(iii) Gandhiji hailed it as 'a miracle of modern times'

        A:-Only (i and iii)

        B:-Only (ii and iii)

        C:-Only (i)

        D:-Only (ii)

        Correct Answer:- Option-B

Question15:-Which of the following statement is/are correct?
(i) 'Akhila Thiruttu' is the publication of vaikunta Swamikal
(ii) 'Atmopadesa Satakam' is the publication of Sree Narayana Guru
(iii) 'Prachina Malayalam' is the publication of Chattumpi Swamikal

        A:-Only (i and ii)

        B:-Only (ii and iii)

        C:-Only (i and iii)



        D:-All of the above (i, ii and iii)

        Correct Answer:- Option-D

Question16:-Which of the following options is an example of an activity at the
Create level of Benjamin Bloom's Taxonomy of Educational Objectives?

        A:-The learner writes a dialogue on his/her own

        B:-The learner edits a given dialogue

        C:-The learner says by heart a dialogue from the text book

        D:-The learner reads a dialogue from the text book

        Correct Answer:- Option-A

Question17:-The indirect effect of a Model of Teaching is also called

        A:-Instructional effect

        B:-Nurturant effect

        C:-Teaching effect

        D:-Learning effect

        Correct Answer:- Option-B

Question18:-'Student Portfolio' is a tool for _______ assessment.
(i) Term assessment
(ii) Formative assessment
(iii) Self-assessment
(iv) Summative assessment

        A:-(i), (ii), (iv)

        B:-(i), (ii), (iii)

        C:-(i), (ii), (iii), (iv)

        D:-(ii), (iii), (iv)

        Correct Answer:- Option-C

Question19:-A teacher plans to find out the lack of motivation to learn among his
students. Which one of the following types of research is the most appropriate one
in this context?

        A:-Descriptive research

        B:-Exploratory research

        C:-Explanatory research

        D:-Action research

        Correct Answer:- Option-D

Question20:-A teacher provides several examples to teach a principle of sentence
construction. Which maxim of teaching is being practised by the teacher?

        A:-From indefinite to definite

        B:-From simple to complex

        C:-From particular to general



        D:-From concrete to abstract

        Correct Answer:- Option-C

Question21:-The Language Across Curriculum approach focusses on :
(i) Integration of language and content learning
(ii) Holistic development of learners
(iii) Stimulation of linguistic skills
(iv) Understanding technical terms related to subject specific contexts

        A:-(i), (ii), (iv)

        B:-(i), (ii), (iii), (iv)

        C:-(i), (ii), (iii)

        D:-(ii), (iii), (iv)

        Correct Answer:- Option-B

Question22:-Which of the following is a sub skill of speaking?

        A:-Segment sounds into meaningful groups

        B:-Understand the syntactic patterns

        C:-Articulate stress patterns within words

        D:-Interpret stress, rhythm, and intonation

        Correct Answer:- Option-C

Question23:-Ramesh's achievement in studies does not match his potential.
Ramesh is _______ learner.

        A:-Slow learner

        B:-Learning Disabled

        C:-Underachiever

        D:-Mentally challenged

        Correct Answer:- Option-C

Question24:-The creative writing skill of students can be assessed the best by

        A:-Completion type questions

        B:-Short answer type questions

        C:-Multiple choice questions

        D:-Essay type questions

        Correct Answer:- Option-D

Question25:-A language function that aims at starting a conversation or
establishing a social relationship is

        A:-Expressive function

        B:-Information function

        C:-Directive function

        D:-Phatic function

        Correct Answer:- Option-D



Question26:-Which hypothesis of Krashen says, an individual's emotions can
directly assist or interfere with the learning of a new language?

        A:-The acquisition or learning hypothesis

        B:-The affective filter hypothesis

        C:-The input hypothesis

        D:-The monitor hypothesis

        Correct Answer:- Option-B

Question27:-The major aim of teaching poetry is

        A:-Vocabulary development

        B:-Enjoyment and appreciation

        C:-Development of grammar

        D:-Making learners become poets

        Correct Answer:- Option-B

Question28:-A teacher uses 'blogs' to develop language skills of her students. The
teacher is incorporating ______ is her teaching.

        A:-Content knowledge and Pedagogical knowledge

        B:-Pedagogical knowledge and Technological knowledge

        C:-Technological knowledge and Content knowledge

        D:-Technological Pedagogical Content Knowledge

        Correct Answer:- Option-D

Question29:-Which of the following advocates that, language teaching should be
based on the whole being, emotional and social needs to be engaged in learning,
not just the mind

        A:-Structural-oral-situational approach

        B:-Communicative approach

        C:-Humanistic approach

        D:-Direct method

        Correct Answer:- Option-C

Question30:-The concept of inclusion includes .....
(i) Celebrating difference and individuality
(ii) Flexible learning approach
(iii) Valuing other cultures and languages
(iv) Understanding that learners have more in common that their differences

        A:-(i), (ii), (iv)

        B:-(i), (ii), (iii)

        C:-(i), (ii), (iii), (iv)

        D:-(ii), (iii), (iv)

        Correct Answer:- Option-C



Question31:-What are the last six lines of a sonnet called?

        A:-Sastet

        B:-Sesnet

        C:-Setsat

        D:-Sestet

        Correct Answer:- Option-D

Question32:-Tennyson's Ulysses was first published in 1842 in the two-volume
collection called

        A:-Lyrics

        B:-Poems

        C:-The Princes

        D:-Recollections

        Correct Answer:- Option-B

Question33:-Which of the following is noted for its metaphysical wit?

        A:-Valedictory Oration

        B:-Of virtual mourning

        C:-A valediction forbidding mourning

        D:-She walks in beauty

        Correct Answer:- Option-C

Question34:-My Last Duchess is written in

        A:-Pentameter couplets

        B:-Hexameter triplets

        C:-Tetrameter couplets

        D:-Dactylic hexameter couplets

        Correct Answer:- Option-A

Question35:-The tragedian mentioned in Dover Beach is

        A:-Shakespeare

        B:-Aeschylus

        C:-Sophocles

        D:-Euripides

        Correct Answer:- Option-C

Question36:-The churchyard in Gray's Elegy is said to be

        A:-Stoney Royd

        B:-Sheffield Poges

        C:-Southampton

        D:-Stoke Poges



        Correct Answer:- Option-D

Question37:-The phrase 'Chorus Hymneal' in the poem To A Skylark denotes

        A:-wedding song

        B:-mourning tune

        C:-empathetic strain

        D:-cradle piece

        Correct Answer:- Option-A

Question38:-Whole Soyinka's Telephone Conversation satirizes the ________ aspect
of racism.

        A:-inspiring

        B:-ennobling

        C:-exalting

        D:-dehumanising

        Correct Answer:- Option-D

Question39:-Emily Dickinson's poem Because I could not stop for Death was first
published under the title

        A:-The Charmer

        B:-The Charcoal

        C:-The Changeling

        D:-The Chariot

        Correct Answer:- Option-D

Question40:-Sylvia Plath's Daddy is penned in

        A:-quatrains

        B:-quintains

        C:-septets

        D:-sextets

        Correct Answer:- Option-B

Question41:-Which of the following is not deemed a source of Shakespeare's
Macbeth

        A:-Holinshed's Chronicles

        B:-Scottish Daemonologie by Saxo Grammaticus

        C:-Reginald Scot's Discovery of Witchcraft

        D:-Daemonologie by King James

        Correct Answer:- Option-B

Question42:-At the end of The Importance of Being Ernest, it is revealed that Jack is
Lady Bracknell's

        A:-sexton



        B:-sibling

        C:-nephew

        D:-neighbor

        Correct Answer:- Option-C

Question43:-Nora's forgery and secret debt are to be taken as acts of

        A:-great selfessness

        B:-pure greed

        C:-financial imprudence

        D:-absolute vanity

        Correct Answer:- Option-A

Question44:-In English, Waiting for Godot is subtitled

        A:-a tragicomedy in two acts

        B:-two acts and a requiem

        C:-the lonely pair

        D:-a silent tale in two acts

        Correct Answer:- Option-A

Question45:-G.B. Shaw claimed that his character Professor Henry Higgins was
modelled on

        A:-Henry Swenson

        B:-Henry Sweet

        C:-Henry Hudson

        D:-Henry Stevens

        Correct Answer:- Option-B

Question46:-_______ is composed in the Hiberno-English dialect of the Aron Islands

        A:-Riders to the Sea

        B:-Home Burial

        C:-Aboriginal Australia

        D:-Obituary

        Correct Answer:- Option-A

Question47:-The Death of a Salesman is primarily about ______ of the American
Dream.

        A:-the multiple triumphs

        B:-the absolute hollowness

        C:-the increasing importance

        D:-the lasting values

        Correct Answer:- Option-B



Question48:-The School for Scandal is often praised as a great example of

        A:-the domestic play

        B:-the musical theatre

        C:-the comedy of manners

        D:-the comedy of mystery 

        Correct Answer:- Option-C

Question49:-______ is a refined version of the author's own short story called The
Gentleman Caller

        A:-The Caretaker

        B:-The Bluest Eye

        C:-The Glass Menagerie

        D:-The God of Small Things

        Correct Answer:- Option-C

Question50:-Nora at the end of the play asserts that she is first and foremost

        A:-a wife

        B:-an able housekeeper

        C:-a plaything

        D:-an individual

        Correct Answer:- Option-D

Question51:-According to Bacon, we must read to

        A:-engrave and endear

        B:-increase and digress

        C:-uplift and ingress

        D:-weigh and consider

        Correct Answer:- Option-D

Question52:-Richard Steele's Trumpet Club deals with

        A:-the benefits of thriftiness

        B:-the follies of egotism

        C:-the joys of companionship

        D:-the pleasures of solitude

        Correct Answer:- Option-C

Question53:-________ used the pseudonym 'Alpha of the Plough'

        A:-A.G. Gardiner

        B:-J.M. Synge

        C:-Robert Frost

        D:-Hemingway



        Correct Answer:- Option-A

Question54:-Who among the following was jailed for his pacifism

        A:-Tony Morrison

        B:-David Diop

        C:-B. Russel

        D:-Jack Davis

        Correct Answer:- Option-C

Question55:-______ has written a Swiftian satire on 20th century politics.

        A:-Meena Alexander

        B:-Hemingway

        C:-G.H. Hardy

        D:-George Orwell

        Correct Answer:- Option-D

Question56:-Bertrand Russel describes teachers as

        A:-votaries of dogma

        B:-guardian spirits of pragmatism

        C:-mercenaries of conservatism

        D:-guardians of civilization

        Correct Answer:- Option-D

Question57:-_______ is a phrase Hemingway scorned and yet popularized.

        A:-Great Depression

        B:-Lost Generation

        C:-The Fifth column

        D:-Stream of Consciousness

        Correct Answer:- Option-B

Question58:-In The Oldman and the Sea, Santiago is Manolin's

        A:-apprentice

        B:-mercenary

        C:-mentor

        D:-minion

        Correct Answer:- Option-C

Question59:-Wuthering Heights was published in

        A:-1847

        B:-1843

        C:-1841

        D:-1851



        Correct Answer:- Option-A

Question60:-The foundling _______ is central to Wuthering Heights

        A:-Lockwood

        B:-Heathcliff

        C:-Edgar Linton

        D:-Hareton

        Correct Answer:- Option-B

Question61:-Which among the following is not the characteristic of Neoclassicism?

        A:-Strong traditionalism

        B:-Glory of the imperfect

        C:-Demand for the stylistic decorum

        D:-Art for humanity's sake

        Correct Answer:- Option-B

Question62:-Which among the following authors sharply etched realism in
representing ordinary events together with fantastic and dream like elements as
well as with materials derived from myth and fairy tales?
(i)   Gabriel Garcia Marquez
(ii)  Daniel Defore
(iii) John Fowles
(iv) Gunter Grass

        A:-(i) and (iv) only

        B:-(i), (ii) and (iii)

        C:-(i), (iii) and (iv)

        D:-All the above

        Correct Answer:- Option-C

Question63:-Who among the following is not the member of Prague Linguistic
Circle?

        A:-Roman Jacobson

        B:-Rene Wellek

        C:-Viktor Shklovsky

        D:-Jan Mukarovsky

        Correct Answer:- Option-C

Question64:-In which among the books that Derrida states that ''there is nothing
outside the text''

        A:-Of Grammatology

        B:-Writing and Difference

        C:-Speech and Phenomena

        D:-None of these



        Correct Answer:- Option-A

Question65:-Match the following books and their authors
(a)  The Empire Writes Back       (i)   Frantz Fanon
(b)  Culture and Imperialism      (ii)   Edward Said
(c)  Nation and Narration           (iii)  Homi K Bhabha
(d)  The Wretched of the Earth   (iv)  Bill Ashcroft

        A:-a-(i) b-(ii) c-(iii) d-(iv)

        B:-a (iv) b (iii) c (ii) d (i)

        C:-a (i) b (iii) c (iv)  d (ii)

        D:-a (iv) b (ii) c (iii) d (i)

        Correct Answer:- Option-D

Question66:-In which among the following phases are ''women historically enabled
to reject the accommodating postures of femininity and to use literature to
dramatize the ordeals of wronged womanhood?

        A:-Feminine Phase

        B:-Feminist Phase

        C:-Female Phase

        D:-In all these phases

        Correct Answer:- Option-B

Question67:-''More and more mankind will discover that we have to turn to poetry
to interpret life for us, to control us, to sustain us''. Whose words are these?

        A:-Wordsworth

        B:-Coleridge

        C:-Mathew Arnold

        D:-T.S. Eliot

        Correct Answer:- Option-C

Question68:-Which among the following produce rasa or aesthetic emotion

        A:-Vibhava

        B:-Anubhava

        C:-Vyabhichari

        D:-All these

        Correct Answer:- Option-D

Question69:-Which is the first principle of linguistic signs according to Saussure?

        A:-Signification

        B:-Linearity

        C:-Arbitrariness

        D:-None of these

        Correct Answer:- Option-C



Question70:-Match the following :
a.   peripeteia       (i)    recognition
b.   anagnorisis     (ii)   tragic flaw
c.   catharsis        (iii)   reversal of fortune
d.   hamartia        (iv)   purgation

        A:-a-(i) b-(iii) c-(iv) d-(ii)

        B:-a-(iii) b-(i) c-(iv) d-(ii)

        C:-a-(iv) b-(ii) c-(iii) d-(i)

        D:-a-(ii) b-(iv) c-(i) d-(iii)

        Correct Answer:- Option-B

Question71:-The last phoneme of the word 'garange' is a

        A:-voiced palato-alveolar fricative

        B:-voiceless palato-alveolar fricative

        C:-voiced palato-alveolar affricate

        D:-voiceless palato-alveolar affricate

        Correct Answer:- Option-A

Question72:-Which among these is not an active articulator?

        A:-Upper row of teeth

        B:-Lower lip

        C:-Tongue

        D:-None of these

        Correct Answer:- Option-A

Question73:-Which among the following statements refer to the concept of
'langue'?]
(i)  If refers to individual utterance
(ii) If means the abstract knowledge of the language
(iii) It is similar to Chomsky's competence
(iv) It is the system underlying speech activity

        A:-(i), (ii) and (iii)

        B:-(i), (iii) and (iv)

        C:-(ii), (iii) and(iv)

        D:-(ii) and (iv) only

        Correct Answer:- Option-C

Question74:-Which among the following can be defined as ''the quality of the voice
and is determined by the frequency or the number of vibrations of vocal cords per
second''?

        A:-Stress

        B:-Pitch

        C:-Rhythm



        D:-Intonation

        Correct Answer:- Option-B

Question75:-Which among these is not a romance language?

        A:-Spanish

        B:-Portuguese

        C:-Rumanian

        D:-Irish

        Correct Answer:- Option-D

Question76:-/w/and/j/ are example of

        A:-syllabic vocoids

        B:-non syllabic vocoids

        C:-syllabic contoids

        D:-non syllabic contoids

        Correct Answer:- Option-B

Question77:-Which among the following is the study of the meaning of words and
word combinations in phrases and sentences.

        A:-Syntacitical study

        B:-Pragmatics

        C:-Sylistics

        D:-Semantics

        Correct Answer:- Option-D

Question78:-The phonetic transcription of the word ' language' is

        A:-/la:ηgweIdʒ/

        B:-/la:ηgwIdʒ/

        C:-/læηgwIdʒ/

        D:-/læηwIdʒ/

        Correct Answer:- Option-C

Question79:-Match the following loan words with their parent languages
a.   husba, knife, fellow, egg          (i)   French
b.   café, restaurant, soup, court    (ii)   Scandinavian 
c.   radius, vacuum, tractor, motor (iv)  Indian
d.   loot, curry, jungle, bangle       (v)   Latin

        A:-a-(iv) b-(iii) c-(ii) d-(i)

        B:-a-(iii) b-(ii) c-(i) d-(iv)

        C:-a-(ii) b-(i) c-(iii) d-(iv)

        D:-a-(ii) b-(i) c-(iv) d-(iii)

        Correct Answer:-Question Cancelled



Question80:-Number of morphemes in the word 'uneventfulness'

        A:-two

        B:-three

        C:-four

        D:-five

        Correct Answer:- Option-C

Question81:-Which among the following is a correct statement?

        A:-You had better consulting a doctor

        B:-You had better consulted a doctor

        C:-You had better consult a doctor

        D:-All the above

        Correct Answer:- Option-C

Question82:-Which among the following words mean 'hardworking'?

        A:-Studious

        B:-Industrious

        C:-Intelligent

        D:-Enthusiastic

        Correct Answer:- Option-B

Question83:-Match the following antonyms
(a)   wide     (i)   tiny
(b)   high     (ii)  shallow
(c)   deep    (iv)  narrow
(d)   huge    (v)  low

        A:-a-(iii) b-(iv) c-(ii) d-(i)

        B:-a-(iii) b-(ii) c-(i) d-(iv)

        C:-a-(ii) b-(i) c-(iii) d-(iv)

        D:-a-(ii) b-(i) c-(iv) d-(iii)

        Correct Answer:- Option-A

Question84:-Which among the following are the synonyms of the word 'wet'?
(i) drenched
(ii) moisted
(iii) damped
(iv) soaked

        A:-(i), (ii) and (iii) only

        B:-(ii), (iii) and (iv) only

        C:-(i) and (ii) only

        D:-all these

        Correct Answer:- Option-D



Question85:-Which among the following means 'the act or practice of stealing the
thoughts or writing of others and giving them out as one's own'?

        A:-copying

        B:-duplication

        C:-plagiarism

        D:-none of these

        Correct Answer:- Option-C

Question86:-Match the following words with their meanings
(a)   elusive   (i)  legal
(b)  illusive    (ii) wise
(c)  judicious  (iii) deceptive
(d)  Judicial    (iv) evading

        A:-a-(iii) b-(iv) c-(ii) d-(i)

        B:-a-(iv) b-(iii) c-(ii) d-(i)

        C:-a-(ii) b-(i) c-(iii) d-(iv)

        D:-a-(ii) b-(i) c-(iv) d-(iii)

        Correct Answer:- Option-B

Question87:-In which order do the following words make a meaningful sentence?
(i) as the Japanese
(ii) no other people
(iii) are so courteous
(iv) in the world

        A:-(i)-(iii)-(ii)-(iv)

        B:-(iv)-(iii)-(ii)-(i)

        C:-(iv)-(ii)-(i)-(iii)

        D:-(ii)-(iv)-(iii)-(i)

        Correct Answer:- Option-D

Question88:-Which among the following is the most appropriate order of the
adverbs in the given sentence?
The violinist played the violin
(i)  for three hours
(ii) at the concert
(iii) very sweetly

        A:-(i), (ii) and (iii)

        B:-(iii), (ii) and (i)

        C:-(ii), (iii) and (i)

        D:-none of these

        Correct Answer:- Option-B

Question89:-What is the meaning of the idiom 'in a nut shell'?

        A:-in a brief manner



        B:-in a hard manner

        C:-in an easy manner

        D:-in a sweet manner

        Correct Answer:- Option-A

Question90:-Read the passage carefully and answer the following comprehension
questions :
What we usually specify as the historical novel, however,began in the nineteenth
century with Sir Walter Scott. The historical novel not only takes its setting and
some characters and events from history, but makes the historical events and issue
s crucial for the central characters and narrative. Some of the greatest historical
novels also use the protagonists and actions to reveal what the author regards as
the deep forces that impel the historical process. Examples of historical novels are
Scott's Ivanhoe (1819), set in the periodn of Norman domination of the Saxons at
the time of Richard I; Dicken;s A Tale of Two cities (1859),in Paris and London during
the French Revolution; George Eliot's Romola (1863), in Florence during the
Renaissance; Tolstoy's War and Peace (1869), during Napoleon's invasion of Russia;
and Margaret Mitchell's Gone with the Wind (1937), in Georgia during the Civil War
and Reconstruction.
(a)  Name the historical novel set in the period  (i)    Margaret Mitchell
      of Norman domination of the Saxons.
(b)  Name the two cities mentioned in               (ii)   Paris and London
      'A Tale of Two Cities'.
(c)  Name the author of 'Gone with the Wind'.    (iii) Ivanhoe
(d)  Name a historical novel written by Tolstoy.   (iv) War and Peace

        A:-a-(i) b-(iii) c-(iv) d-(ii)

        B:-a-(iii) b-(ii) c-(i) d-(iv)

        C:-a-(iv) b-(ii) c-(iii) d-(i)

        D:-a-(ii) b-(iv) c-(i) d-(iii)

        Correct Answer:- Option-B

Question91:-Insert the articles.
_____ apple _____ day, keeps ______ doctor away.

        A:-a, an, the

        B:-an, a, the

        C:-the, a, a

        D:-an, a, a

        Correct Answer:- Option-B

Question92:-Insert Prepositions
Please remind me ____ the appointment _____ the doctor ______ the evening.

        A:-about, of, in

        B:-of, with, during

        C:-about, with, at

        D:-of, with, in



        Correct Answer:- Option-D

Question93:-Which among the following sentences have a noun clause in it?
(i) He believed what I said
(ii) He remembered how the escaped
(iii) He reached when the meeting was over
(iv) He is absent because he is ill

        A:-(i) and (iv)

        B:-(ii) and (iii)

        C:-(i) and (ii)

        D:-(iii) and (iv)

        Correct Answer:- Option-C

Question94:-Fill in the blanks using the appropriate tense forms.
Yesterday the ______ my photograph while I ______. If he _______ me earlier, I
________ another dress.

        A:-was taking, was reading, informed, would have put on

        B:-took was reading, had informed, would have put on

        C:-took, was reading, had informed, would put on

        D:-was taking, was reading, informed, would put on

        Correct Answer:-Question Cancelled

Question95:-Match the following phrasal verbs with their meanings.
(a)  Put off      (i)  Wear
(b)  Put out     (ii) Save
(c)  Put on      (iii) Postpone
(d)  Put by      (iv) Extinguish

        A:-a-(iii) b-(iv) c-(i) d-(ii)

        B:-a-(iii) b-(ii) c-(i) d-(iv)

        C:-a-(ii) b-(i) c-(iii) d-(iv)

        D:-a-(ii) b-(i) c-(iv) d-(iii)

        Correct Answer:- Option-A

Question96:-Which among the following sentences is in the appropriate indirect
speech form of the sentence given below.
Mohan said, ''Mummy, Can you take my laptop with you?''

        A:-Mohan asked his mother whether he could take her lap top with him

        B:-Mohan asked his mother if she can take her lap top with her

        C:-Mohan asked his mother weather she could take his lap top with her

        D:-Mohan asked his mother if she could take his laptop with him

        Correct Answer:-Question Cancelled

Question97:-Fill in the blanks with appropriate conjunction.
The patient had died ______ the doctor arrived.

        A:-after



        B:-before

        C:-when

        D:-all these

        Correct Answer:- Option-B

Question98:-Which among the following is the passive form of the given sentence?
The postman has delivered the money orders.

        A:-The money orders has been delivered by the the postman

        B:-The money orders were delivered by the postman

        C:-The money orders have been delivered by the postman

        D:-The money orders have being delivered by the postman

        Correct Answer:- Option-C

Question99:-Which among the following is the appropriate question tag?
He seldom visits his parents. _______?

        A:-isn't he?

        B:-doesn't he?

        C:-does he?

        D:-is he?

        Correct Answer:- Option-C

Question100:-Which among the following sentences is in the compound sentence
form of the given sentence.
Despite his poverty, he is happy.

        A:-In spite of his poverty, he is happy

        B:-Even though he is poor, he is happy

        C:-He is happy, though he is poor

        D:-He is poor, yet he is happy

        Correct Answer:- Option-D


